Tema 12.1. Tpuronomerprnueckue ypaBHeHHUs
a) Pemuth ypaBHEHHE
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1.a) 2sin2x =4cosx—sinx+1 0) [97” 117”}
2.a) sin? X —cos? X = cos 2x 0) Iz, ; =27
2 2 2
3.a) sin2x—2+/3 cos’ x—4sinx+4/3cosx =0 6) {37”;3;;}
. or
4.2) cos2x+sin” x=0,25 0) {3;; 7}
5.a) V2sin® x—+/2sinx+cos’ x =0 0) [_5_”;_3_”}
2 2
. Sz . Or
6. 2) —/2sin —7+x -8in x = cos x 0) 7; 6r
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7. a)sin” x+sin” —=co0s” 2x+cos” — 0) | ——;——
6 3 2 2
8.a) «/5—3c0s(£+xj—2sin£cos£ 0) 7—” 9—”
' 2 272 272

9. sin2x+2cos(x—%j:\/§cosx+\/§ 6)[ -37; _37”}

10. a)sin(2x+%):cosx+cos(x+%)sinx 0) {——;——
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